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Problem I
.
I did not apply the chain rule correctly -

-

I also used the wrong value for sin (E )
,
which is tz

,

not IT
.

It Vince = dat ( sin (Eet))
'T

= Iz (sin et ))
-±
(feet cos et ))

= et cos (Eet) ( sin (Eet ) )
-t

so
, datJsin(F/f=o = Tze

'

cos (Theo)(sin (Ite))
-t

= Tz cos (E) (sin (E ))
-±

= ELEK's )
- ±

= E. Ez
=
I
456
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Instructions. You have �minutes to complete this quiz. Youmay use your
calculator. Youmay not use any othermaterials (e.g., notes, homework,
books).
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Problem �. Find d
dt

�
sin � π� e t� at t = �.

�

Example student

4

4

It Vsinlftet) = dat ( sin (Eet ))÷

= tz(sin (Thet ) )
-t

. If et

I

= Iet ( sin (Eet ))
- I

so
. It VsinCIeT/⇐

.

= Fae
. ( sin e))

- ÷

= ( sin D-
÷

= (eat
x


